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EOEHmMm%Z, m=10p+q & B<,
p, q IXFEEIEEE T, p=0,0=q=9 L%,
m? =100p? +20pqg+q?
m* =10000p* +400p?q? +q* +4000p%q +40pq® + 200p?q?
=10000p* +600p?q”® +4000p3q+40pq® +q*
5m* =50000p* +3000p2q? + 20000 p3q +200pq® +5q*
=100(500p* +30p3q? +200p%q+2pg®) +59*

5m* O F 2 Hiid, q DA THRE D,

02=0, 1°=12%2=4,3%=9, 42 =16, 5> =25, 6° =36, 7> =49, 8> =64, 92 =81

0*=0, 1* =1, 2% =16, 3* =81, 4* =(10+6)2 =100+120 + 36 =256,
5% = (20+5)% =400+ 200+ 25=625, 6* = (30+6)> =900 + 360 +36=1296,

7% =(40+9)? =1600+ 720 +81=2401, 8* = (60+4)?> =3600+ 480 +16=4096,
9* =(80+1)?> =6400+160+1=6561

5.0%=0,5-1* =5,5-2* =80, 5-3* =405, 5- 4* =1280,
5.5 =3125,5-6% =6480,5-7* =12005, 5-8* =20480, 5-9% =32805
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